[bookmark: _GoBack]Let’s go back now and take a closer look at the co-insurance penalty. Here’s the formula for calculating it. Lets look at a couple examples of how it works. We’ll first look at an example where the penalty would be applied to a loss. Let’s say a condominium building gets hit by a hurricane and receives 6 million dollars in damage. The building’s replacement cost at the time of loss was $12.5 million.

So, 80% of that amount is $10 million. But instead of writing $10 million in coverage, the condo association just insures its building for $6 million. So, when a building that should be insured for at least $10 million dollars is only insured for $6 million, there will be a considerable penalty applied to a $6 million loss. So when you do the math the building was only insured to 60% of its required amount. Therefore, only 60% of the $6 million loss is paid.

With a claim payment for only $3.6 million dollars, that leaves a shortfall of 2.4 Million! If the condo association had insured their building for $10 million, they would have avoided the co-insurance penalty. Now look at another example that avoids the penalty. The building’s replacement cost when the policy was purchased was $11 million.

So, 80% of that is $8.8 million. But instead of insuring to just 80%, this condo association insures for the full $11 million. Now over time, the replacement cost rises to $12.5 million dollars and then a $6 million loss occurs.

Well, since this condo association originally insured its building to 100% replacement cost, the $11 million limit is still well within the 80% threshold to avoid the co-insurance penalty. So, notice that the $6 million loss is paid without any deduction for the co-insurance penalty.





